FRYMASTER DEAN
8700 LINE AVENUE, SHREVEPORT , LA 71106

.
~ Frymaster

Instruction Sheet

Follow these instructions to mount a Capable

318-865-1711

844-724-CARE
WWW.FRYMASTER.COM

EMAIL: SERVICE@FRYMASTER.COM

Subject: 8263270 Capable Controls Spark Ignition
Module Mounting Plate Hardware Instructions

Models affected: OCF and LOV Fryers

In This Kit

Controls spark ignition module, 8075691 to Part Number Description Qty
hardware for an OCF or LOV fryer previously 1086052 | Ign module mounting plate w/clamp | 1
. . e eye 8090247 Nut, 8-32 hex head 4
equipped with a Honeywell ignition module 8090250 NUt 632 hex head 3
mount. 8090477 Screw, #10 x 1/4” Phillips 3
8070705 1/4" push-on terminal 2
8090825 Nut, #1/4-20 hex head 2
8242090 Cover 1
8197204 Instructions 1
8075691
Capable Controls
e 23 2ES Spark Module
1. Use enclosed ignition module
mounting plates and attach Rear of mounting plate
new Capable Controls module = jomm: o soams on
from kit 8263271 or 8263272 Spark cable connection
to mounting plate using
6-32 hex nuts ensuring pin
11(Spark) is closest to the rear
plate (see Figure 1).
2. Loosely start nuts on rear of  Figure 1
module mounting plate (see
Figure 2).
3. Install following instructions in |}
kits 8263271 and 8263272.
'}) WELBILT 10f1

Document Number: FRY_INST_8197204 03/2017



